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[AEM303] Which of these is not the objectives of establishing  a regional centre on 
agrarian reform and rural development?
Disintegrate rural people in the development process.

[AEM303] Which of these takes into account every condusive factor that is responsible 
for the sustained growth in the agricultural sector?
Agrarian structure

[AEM303] When the landowners pay wages to the labours against their works, it is 
called
system of labour organization

[AEM303] Another form of the tenure is known as
share cropping

[AEM303] The social agrarian structure only enhances ________ and __________.
poverty and unemployment

[AEM303] The land ownership and the labour organization form a part of the
social agrarian system.

[AEM303] Which of these lobour organization owe their existence to the poor 
mechanization in the rural areas of the developing nations?
wage labours

[AEM303] When the family alone works on the field and enjoys the fruits of labour is 
known as
Family Labour Organization

[AEM303] Which of these lobour organization are the most organized form of labour?
Plantation Labour

[AEM303] How many types of elements affect production in the agricultural sector?
Three
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